EARAROBEEIERT — 2 N— IBISH —F

2012%7H 138 (&) 6EIA#H6H

Il 7 >%—#% C3—= B R
[AE4£] 17 :800,000 3 ~ 23%&:240,000  ~ 33#&:144,000 @  47#&:96,000 3 ~ 5 37 :80,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
TN fHaAElsE :35. -2-1- . — HFTEFE (KFH)
i lglio| = varF v # 5 238 1(3_5)8 1-2-1-1 | 39.3 1 :1_533; g#,%;;
LA —FIWh7r B:F ¥ bhyT AR
. 9 IAfEX :36. —4-3- . — KEZEH (KH)
olglis| #—7U—-7%v K 7 e 1(316)0 6-4-3-3 | 39.5 5 (4&2) e
AZ:Stormin Fever £F:Pub Crawler Darrel| Brown & Lendy Brown
it 6 | tEAKEE 1:36.4 3-3-1-2 [39.9| — 8 477 | HAAR—K (kH)
37117/ —F7— 54.0 @ 1) | BENRB
L7274 5—714>9 B:714=— RO%%
5 = i 4 | FEY 1:36.7 9-9-4-6 |40.2| — 6 470 | =3REEME (iF)
4 8 FU—hAT 54.10 (1 3/4) +1) IO
R:TI5908%Y—F BiFA—913I=HL HEKS
= > o7 | BBXE 1:36.7 6-6-5-5 |40.2| — 2 483 | FREEAE (KH)
5 9| PLZ1H4-2 56.0 (NF) (1) | BEIEZE
L:viNyBgLhTr BTITIVLT 41— FHE &
N . 4 | EHE— 1:37.3 | 13-12-9-7 [40.7 | — | 7 | 464 |BREFXER (K3)
61111 A1H) T yIN— e 56.0% 3) +2) A+EEEI
LA —=JIhTzx B:AH/ V- Al FE
o # 6 | KHEZ 1:37.6 5-7-6-4 | 41.1| — 4 494 | K LEEEE (KH)
71710 Fr—LE=-ZX g0 (1 1/2) ) | THAE L -2 s
SVIWIN=F v —L BH T BR&t T NL—-Z2TE2%
D P, P FiEL :37. ~10-10~ . - IR E (KFH)
8 3| R15T5Tvsy i 4 e 1(/3;? 10-10-10-8 | 41.0 12 <5+2335 5]
R:VLTATIAL R B:avdakex e ]
o of 4 6 | RAR 1:38.1 8-8-11-11 |41.2 | — 3 507 | SIE=EE (KFH)
9|57 eIV HEF 54.0 (2 1/2) 0 EIHIEY
LHYRT4 TSR B:ATATI I #5 BE
- 545 i 6 | FRETF 1:38.5 1M-11-12-12| 41.2 | — 9 477 | ERBRIR (KFH)
Eﬂ 5 Y<2ZI47 .0 @) ) + FERERL
L:T7HA4FIZyy BYv=LIUTX SRS
. BB :39. -13-8- . - hidiE (K3
ilslel7vavery K o4 allen 1(349)3 12-13-8-10 | 42.8 13 ;1_5:7) AL
v IRy b BivFHZICIAO J—HrTr—1I
N 5 HATHE R : —1-7- — HERE (#F)
19 4 4733y —x 4 4 54.01_15 1.(460).6 1-1-7-9 | 441 11 :3;4) ;&ﬁaﬂ AR
LA ToN1 B:32%)—F NEFH R
Y T 4 4 | BRE— 1:40.9 4-5-13-13 | 43.6 | — 10 | 450 |KEZEMH (K3H#)
13 2 7o/78y H L 54.0 (1 1/2) (-a) EEEF
LT TRy b BT —KYadrr [2AuiE e ]
® I—F—@EBIERL
|S=7r= (4,12) ,11,2,10,(9,13),7,8,3,5,6,1
Ao=5"= 4,12,11,13,2,9,10,7,8,3,5,1,6
T =35r= (11,12),13,8,9,10,4,6,1,3,7,5,2
41—F— 12,11,13,10,9,8,1,3,4,6,7,5,2
[ RN
-y 12 330 | | 71K 12-13 570/ | | # = 8-8 1,700 | | 3&4& | 11-12-13 10,360
B 12 160 11-12 1,530/ | | # B 8-8 1,660 | | & | 12-13-11 35,570
13 450/ 11-13 2,750 B = 12-13 1,720M
1 700M B H 12-13 2,470M

ABICOVWTRDTEEERROODE. TR LIV,




